Y ™
Lesgllegll sagall (gl gll (slagall RAIAH Y040  gedisd

k bl SO HIOTLE dE30 b A3ty
2021 481 a1y 3 gl ARCHI SR Y Mm
- LW palie - LE:: R RE L S S 1T 0l plclly

; ; Sloiyly oill ot S0

l HHHHHHHHHHHHHHHHHHHH | RR 11 I \_ J

45 3alay) daty I BaLal
@M}" ?3&'" lia :@hﬁ}" eJMU t,ﬂ-\iﬂ :\.&.ﬁa I Alsall gl Ay
)
KEY AND MARKING SCALE

Please accept any appropriate answer not mentioned in this key.
I. COMPREHENSION (15 POINTS)
Testees should not be penalised for spelling and grammar mistakes in the comprehension section.

A. THE RIGHT ANSWER (1 pt)
b: a successful woman with Down syndrome
B. WH-QUESTIONS: (3 pts; 1 pt each)
1. (She studied) education,
2. She graduated with a degree in education.
3. She learnt how to face challenges.
C. TRUE OR FALSE: (3 pts) (1 pteach: 0.5 pt for the right choice and 0.5 pt for the right justification. Consider
the justification ONLY if the choice is correct. Quotes from the text are acceptable)
1. T. (She is the youngest of) six siblings.
2.F. ...she was included in regular classes ...
3. T. “I am lucky to work in an elementary school in which the principal is determined to make sure that [
am successful.”
D. SENTENCE COMPLETION: (2 pts; 1 pt each)
1. ... help children in the same way her teachers helped her.
2. ... she serves as an advocate for health and inclusion programs for people with intellectual disabilities.
E. PICK OUT: (2 pts; 1 pt each)
1. Her parents (and siblings) never treated her like she had a disability
2. She is training hard for the Special Olympics swimming competition.
F. WORD MEANING: (2 pts; 1 pt each)
1. accomplishment 2. advocate
G. WORD REFERENCE: (2 pts; 1 pt each)
1. employment 2. Nancy/Megan’s sister

II. LANGUAGE (15 POINTS)

A. BLANK FILLING: (2 pts; 1 pt each) 1. log on 2. stand for

B. WORD FORM: (2 pts; 1 pt each) 1. dangerous 2. reaction

C. BLANK FILLING: (2 pts; 1 pt each) : 1. who 2. can

D. VERB TENSE: (2 pts; 1pt each) 1. had changed 2. will have disappeared
E. SENTENCE REWRITING: (3 pts; 1pt each)

1. ... save money for his vacation.

2. ...was designed ...

3. ... Nadia had made.........
F. APPROPRIATE ANSWER: (2 pts; 1pt each) 1. c. It’s not a problem. 2. b. Good idea.
G. EXCHANGES COMPLETION: (2 pts; 1pt each Accept any correct and appropriate answer.

II1. WRITING (10 POINTS; Task 1: 4 pts; Task 2: 6 pts)
The following criteria should be respected while scoring the writing tasks.

Scoring criteria Task 1 Task 2
Relevance of content to the task 2 pts 3 pts
Appropriateness and variety of vocabulary 1 pt 2 pts
Grammar and mechanics 1pt I pt




